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2008-09 District Competition

Match #24 (Regular Season)


These questions are for use in the Virginia High School League’s Scholastic Bowl District regular season competition. These questions were originally used in the 2008 Missouri State High School Activities Association State tournament. 

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL District champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your District’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
Hippocrates was the first to diagnose this, describing patients with ‘quickened response,’ but ‘less tenaciousness.’ Its types are Predominantly Inattentive, Predominantly Impulsive, and Combined. What disorder is often treated by Ritalin? 

ANSWER: Attention Deficit Hyperactive Disorder or ADHD
2.
Measuring the amount of this in tooth enamel can predict age within 2 years. It undergoes beta decay to form a nitrogen isotope. What isotope with a half-life of 5,730 years is used to determine the age of human artifacts and has 8 neutrons and 6 protons in its nucleus? 


ANSWER: carbon-14 or radiocarbon
3.
This album will include Patti Hood on harp and Sebastian Bach on backup vocals. The songs ‘Better,’ ‘Madagascar,’ and ‘I.R.S.’ are on this album, which has been in the works since 1994. What album may one day be released by Guns N’ Roses? 


ANSWER: Chinese Democracy

4.
This play’s Fool says ‘And I’ll go to bed at noon,’ in Act III and then disappears. Two family struggles dominate: Gloucester’s sons Edgar and Edmond battle, as do the title character’s daughters, Regan, Goneril, and Cordelia. What is this play by Shakespeare?

ANSWER: King Lear
5.
Men who undergo it wear clothing called ihram. Parts of it include the Stoning of the Devil and walking seven times around the Kaaba. Every Muslim who is able must make at least one during his lifetime. What fifth pillar of Islam is a pilgrimage to Mecca? 


ANSWER: hajj (accept pilgrimage to Mecca before it is said)

6.
The plural in this language is formed by adding –ler to a noun. Letters in this alphabet include an upper-case I that has a dot on top. This language switched from the Arabic to the Latin alphabet in 1928. What language was changed in the Kemalist reforms? 


ANSWER: Turkish
7.
The Western Settlement and Eastern Settlement here were abandoned by the 15th century. Part of it was re-colonized in 1932 as Erik the Red’s Land. In 1978, Denmark granted home rule to what territory that today has 14 square miles per person?  

ANSWER: Greenland
8.
Greece adopted it in 2001, and Slovenia, Malta, and Cyprus adopted it in 2006 and 2007. However, there are no plans to adopt it in Denmark, Sweden, and the United Kingdom. What is this unit of currency in countries including France and Germany? 


ANSWER: the euro
9.
Marshall Nirenberg figured out the meanings of most of the 64 kinds of them.  CGC is argnine, GCA is alanine, UAG, UGA, and UAA are stop, and AUG is start.  Name this three-nucleotide genetic sequence that specifies an amino acid.

ANSWER:
codon(s)

10.
For his study of these infectious agents, Stanley Prusiner won the 1997 Nobel Prize in Medicine. There is disagreement about their structure, but the ‘protein-only’ hypothesis is the most accepted. What is the cause of Creutzfeld-Jacob disease and mad cow disease? 

ANSWER: prion(s) 

11.
This philosopher’s sister, Elisabeth, edited his works to make him appear anti-Semitic. He wrote about concepts such as the master-slave morality and the Übermensch (oo-ber-mensh). Who wrote Thus Spake Zarathrustra and Beyond Good and Evil? 

ANSWER: Friedrich Nietzsche
12.
Its original formula was developed by Paul Siple and Charles Passel in Antarctica.  In 2001 the National Weather Service switched to a new formula for it.  Name this term for the apparent temperature decrease caused by atmospheric movement.

ANSWER:
wind chill
13.
He founded the 26th of July Movement and fought a guerrilla war in the Sierra Maestra mountains between 1955 and 1958. He faced the first of his 638 assassination attempts in 1959, when he overthrew Fulgencio Batista. Who is this former ruler of Cuba? 


ANSWER: Fidel Castro
14.
THIS IS A 10-SECOND COMPUTATION QUESTION.  If an odd function contains the point (3, 8) then what other point must it also contain?


ANSWER:  (-3, -8)
15.
This word comes from a Greek word meaning ‘throwing beyond.’ Phrases such as ‘I could eat a horse’ are examples of what word, a figure of speech that is not meant to be taken literally?  

ANSWER: hyperbole
Second period, 10 directed questions per team, 10 points each
Set A questions have an ‘A’ after their number; set B questions have a ‘B.’ 

1A.
What creature, notable for its shell that forms a logarithmic spiral, is the only cephalopod with a shell?


ANSWER: nautilus
1B.
What staple of Polish cuisine is a semi-circular dumpling with filling – which can be nearly anything but is often mashed potatoes? 


ANSWER: pierog or pierogi
2A.
Name either of the two speakers that served as Speaker before Dennis Hastert and Nancy Pelosi. 


ANSWER: Newt Gingrich or Tom Foley (accept Bob Livingston)
2B.
THIS IS A 20-SECOND COMPUTATION QUESTION.  Circle A has an area of 25 pi and circle B has an area of 225 pi.  If circle A is entirely inside circle B then, to the nearest percent, what percent of circle B is covered up by circle A?  


ANSWER:  11%
3A.
A term first coined by Lewis Carroll, what words are formed as a blend of two separate words?


ANSWER: portmanteau
3B.
The Green and Gila (HEE-lah) Rivers are tributaries of what river?


ANSWER: Colorado
4A.
THIS IS A 20-SECOND COMPUTATION QUESTION.  What is 5 ¾ divided by 5 1/9 ?


ANSWER:  9/8  or  1 1/8
4B.
What golf buddy of Daisy becomes Nick’s girlfriend over the course of the The Great Gatsby?

ANSWER: Jordan Baker
5A.
Who is the current President of Mexico?


ANSWER: Felipe Calderón
5B.
What gland in the neck produces calcitonin?

ANSWER:
thyroid
6A.  
In base 60 the letter A is used to represent 11, B is used to represent 12, and so on.  Remembering this, convert 2444 in base 5 to a base 60 numeral. 


Answer:  6E
6B.
What popular font, as its name implies, was developed in 1957 by a Swiss designer? 

ANSWER: Helvetica
7A.
Who wrote In Search of Lost Time, a work once known as Remembrance of Things Past? 

ANSWER: Marcel Proust
7B.
Name this often-violated rule that states that a stable atom has eight electrons in its valence shell.

ANSWER:
Lewis octet rule

8A.
The works Meteorology, Physics, and On the Heavens are all by what Greek philosopher, a student of Plato? 

ANSWER: Aristotle
8B.
The Amish are an offshoot of what Anabaptist group named after a 17th century Dutch reformer whose last name was Simons? 


ANSWER: Mennonite(s)

9A.
Before his 1035 death, what English proclaimed himself ‘king of all England and Denmark and the Norwegians and of some of the Swedes,’ but not ‘lord of the tides.’


ANSWER: Canute
9B.
What is the name of the ‘effect,’ named for a former Los Angeles mayor, where Black candidates perform better in polls than on Election Day?


ANSWER: Bradley effect

10A.
Which of Beethoven’s symphonies is referred to as the ‘Pastoral?’


ANSWER: sixth

10B.
THIS IS A 30-SECOND COMPUTATION QUESTION.  What is the only prime number that is a factor of both of 1455 and 852?


ANSWER:  3
Third period, 15 toss-ups, 10 points each

1.
It established a thirteen-member Committee of the States and pre-approved entry for Canada. Maryland’s ratification put it into effect in 1781. Rhode Island rejected an amendment to allow tariffs. In 1788, what document was replaced by the Constitution? 


ANSWER: Articles of Confederation
2.
Software of this type is unlike open source in that one person controls the code. Andrew Fluegelman coined this term in 1982 to distribute PC-Talk, but Fluegelman’s meaning was closer to ‘shareware.’ What type of software is available to the public at no cost? 

ANSWER: freeware
3.
Rosalina’s Comet Observatory has six domes that can access this game’s forty-two galaxies. Power Stars enable the player to visit more galaxies, and then to visit the planet of King Bowser. What Wii game is the third 3-D game in the Mario series?


ANSWER: Super Mario Galaxy
4.
A clause with this name was in Article IV, Section 2, Clause 3 of the U.S. Constitution. One was also passed in 1793, but many free states refused to enforce it. In 1850, what part of the Compromise of 1850 made it a federal crime to help runaway chattel?

ANSWER: Fugitive Slave Act

5.
His numbers were 9430 and 24601. After stealing from Little Gervais and Bishop Myriel, he changed his ways. He lived under the alias of Father Madeleine for many years. Who raised Cosette as his own child and was chased by Inspector Javert in Les Misérables? 

ANSWER: Jean Valjean
6.
This character joined the Confederate army after the fall of Atlanta, despite arguing the South had no chance to win during a party at Twelve Oaks. The birth of his daughter Bonnie Blue ruined his marriage. Who told his wife, ‘my dear, I don’t give a damn?’ 

ANSWER: Rhett Butler
7.
It is the answer to the requests, ‘Tell me what thy lordly name is on the night’s Plutonian shore!’ and ‘Is there balm in Gilead? – tell me – tell me, I implore!’ What is this word repeated by the title character in an Edgar Allan Poe poem about the lost Lenore? 

ANSWER: ‘nevermore’

8.
In the 18th century, it started being used as a low-cost alternative to plaster or carved wood. Today, plastic has replaced its structural uses, and it is used mostly in children’s crafts. What artistic media consists of slices of paper glued together? 

ANSWER: papier-mâché
9.
It is symbolized by ‘S.’ According to the second law of thermodynamics, it always increases.  Name this property associated with disorder that measures the unavailability of a system’s energy to do work and the randomness of molecules in a system.

ANSWER:
entropy
10.
This office’s occupant could not leave Italy and did not have power of taxation. Its normal term was six months, but Sulla and Caesar held this office for life. What office, created by the Roman Senate for emergencies, is today synonymous with ‘tyrant?’ 


ANSWER: dictator
11.  
THIS IS A 10-SECOND COMPUTATION QUESTION. Find the value of x in the proportion 10/5 = x/20.


Answer:  40
12.
At the end of the novel, the Sardaukar guards of the Padishah Emperor have been defeated. Its villain is Baron Harkonnen. Paul Atreides become the Muad’Dib in what Frank Herbert novel about mélange, a substance known as ‘the spice’? 

ANSWER: Dune
13.
Some groups in this style, such as the Vocal Majority and Alexandria Harmonizers, have dozens of members and not four. The ‘ringing’ chord, or the ‘fifth voice’ is its main feature. What musical style declined in the 18th century due to the popularity of wigs? 

ANSWER: barbershop quartets

14.
Also known as Bungula, Toliman, or Rigil Kent, it is a ternary system whose parts are A, B, and Proxima.  It is near the Southern Cross and is the brightest star in its constellation.  Name this nearest star system to the Sun.

ANSWER:
Alpha Centauri
15.
The first European to see it was John Hanning Speke. Located between two branches of the Great Rift Valley, an 11th century Arab map called it, correctly, the source of the Nile. Kenya, Uganda, and Tanzania all border what largest lake in Africa? 

ANSWER: Lake Victoria 

Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
Its title character told her husband she was pregnant by her lover (and cousin), Jack. The unnamed narrator dreams of her old home, Manderley, and is bullied by the housekeeper, Mrs Danvers. The second Mrs de Winter narrates what novel by Daphne du Maurier? 

ANSWER: Rebecca
2.
He was assassinated in 1923 in the city of Parral. His military power was weakened at the Battle of Celaya. After raiding Columbus, New Mexico, John Pershing led an expedition to capture what leader of the Division of the North during the Mexican Revolution? 

ANSWER: Pancho Villa or Doroteo Arango
3.
His last name is Rockatansky and he is part of the Main Force Patrol. He fights gangs led by the Toecutter and the Lord Humungous, and later infiltrates Auntie Entity’s Bartertown. Three dystopian movies feature what character, played by Mel Gibson? 


ANSWER: Mad Max
4.
This isotope is 98.89 percent of its element.  It is not radioactive and cannot be used for dating like another isotope of the same element.  It is used to define atomic mass.  Name this isotope of carbon that has 6 protons and 6 neutrons.

ANSWER:
carbon-12 (DO NOT prompt or accept ‘carbon’ by itself)

5.
THIS IS A 10-SECOND COMPUTATION QUESTION. In lowest terms, what is the slope of a line whose endpoints are (5, 11) and (13, 17)? 


ANSWER: ¾ 
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